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A man was assigned to find the average age of
a class of 13 students. By mistake, he included
the 35 yr old teacher as well and hence the

average went up by 2 yr. Find the actual average
age of the class.
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Section 1 - Paperl-English Language

No. of Questions: 1

Passage Questions (1-5) :
Read the passage and answer the questions that follow:

Maybe that's the problem. We need to find ways for you to exercise so that you don't have to make yourself do it.
Something you enjoy."

"Like what?"

"Was it the idea of going out in the cold that made you stay inside?"

Jennifer nodded. "Definitely."

"What are some things you could do instead of getting out in the cold? Things that you enjoy?"

Jennifer thought for a long minute. "You know, | really enjoy dancing."

"There you go. All you need to do is find an online program or maybe a DVD that you can use."

Her client's face brightened considerably. "I can do that."

"How was your sleep this week?"

"Good. At least earlier in the week." A visible light-bulb moment widened Jen's eyes. "That's when | slept better."

1) What did Jennifer like to do? TeCh OfWO rI d . | N

A) Going out in the cold
B) Sleeping well

C) Reading books

D) Dancing

2) Why did Jennifer want good sleep?

A) She was sleepless

B) She had many children
C) She read many books
D) She looked tired

3) What was suggested to Jennifer?

A) To sleep well

B) To enjoy exercise
C) To take medicines
D) To get back to work
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4) What kept Jennifer from going out?

A) Her leg

B) The cold

C) The teacher
D) The doctor

5) When did Jennifer sleep better?

A) Earlier that month
B) Later that week
C) Earlier that week
D) On Monday

6) Fill in the blank with the correct option:

| remember our Sunday when all family members used to sit together, and my sister used to me about my
poor grades.

vesuse | €CHOTWOTrId.IN

B) tease, teas
C) teas, teas
D) tease, tease

7) Which of the following phrases means to become very sad and weak because somebody has died or gone away?

A) Passed away
B) Gone away
C) Pine away

D) Bury away

8) Fill in the blank with correct prefix or suffix:

Even a good player should not estimate his opponent.

A) pre
B) re

C) under
D) over
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9) Which of the following words is correctly spelt?*

A) carnivorous
B) carniphorous
C) carnivorus
D) carniphorus

10) Which of the follwing expresses the meaning of the phrase "lumber with somebody"?

A) to give somebody a responsibility that he/she do not want I e C h OfWO rI d - I n

B) to give somebody a task that he/she desires the most
C) to give alternative choices
D) to provide money to a beggar
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Section 2 - Paperl-Education and General Awareness

No. of Questions: 5

4/36 —

11) Which of the following components of immune system forms the body's first line of defence?

A) Antibodies

B) Skin

C) T-Lymphocytes
D) B-Lymphocytes

11) géenl gaivia FORNYES aIRIRGER g 60EE aa1an gan goesl 0% @6a ?

»w Techofworld.In

C) §-Qermans,
D) &-Resmaiae;

12) Which of the following played importrant role to end armed conflict between Indian and Pakistan in 1965 war?

A) Resolved through a mediation by the World Bank

B) Signing of Indus Waters Treaty in 1960
C) Karachi Agreement
D) Intervention by united nations

12) ¢ ¢ 98 adel QRER NINGIA Y& ARYIR ANYER Q4Q G100 28 ASIRQl Aid FgRAde ANIQ 6R6E 9RQad 9fe god @R8I ?

A) 89 IS QIAI ARHGS! ARIACR AARIR CARER
B) ¢¢2o Adeica @aq 89 93 AR

C) 0I5 g8

D) Ade QIgaiew Qe 29684

13) In formal education, curriculum refers to -

A) an outline and summary of topics included in a text book

B) activities pertinent to student life, but not part of the regular classroom study
C) aset of courses, and their content

D) strategies of instruction, or a style of instruction
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13) AAQIAR daica, AIOIGH 6208 -

A) < Qo 28160 22ES FAYFRR 9@ QUERE! I AGPE
B) sieeee Q26 960 AR, AIQ FATE 65a1GR 2RIGRR Lradeas Q6e
C) Qioieaa 9@ 6d¢, 19 6A9Fea 98a9g

D) dedan QOQ13, Gr Gedan 9@ 6301

14) As per the Universities Act of 1904, the number of members as per the senate of universities is?

A) Not less than 50 and not more than100
B) Not less than 25 and not more than 80

C) Not less than 60 and not more than 120
D) Not less than 35 and not more than 150

14) ¢ toxa GRMING FAN AQAIN, FYILIS A6RE, AT LY 6268 ?

A) 80Q @7 R6¢ 6 € 0oQ 2R ¢ TeChOfWO rld m I n

B) 98Q @7 6¢ 6 o 2@ Q6<
C) 2009 Q6% B @ 90Q AR F6L
D) M8Q @A Q6% 8 0 80Q AN@ 6L

15) Impactful Policy Research in Social Science is a programme of the MHRD which is implemented by?

A) The National Institute of Advances Studies
B) Ambedkar University

C) Tata Institute of Social Sciences
D) The Indian Council of Social Science Research

15) 999 9Q 2IQ @ @ AIPe duIPa gaiRdie 216 2Qasie QIKigA IRl Qial QIieIR! 247

A) @ cuarin aRESYS BE IGAIR 468
B) usneeq @9aaiea
C) et 2e80Yc 2 cQiduIq ARCYQ

D) @ adair cega 2 cadaig alkg Gas
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Section 3 - Paperl-Reasoning

No. of Questions: 5

16) Kavita started from her home and drove her car 5 kms in the east direction. She took a right turn and went for 4 kms
and reached a mall. What is the minimum possible distance from her home to the mall?

A) 6.4 km
B) 6.0 km
C) 5.5 km
D) 5.0 km

16) of0l A% aQ 2Iea ¢8 QIeg ¢ denIfica gd aca eoisa | OR LIRIag 1 64 ¥ asadca 2IGIg QEEM Q" ¥e AAER AEER | OIF 9Q AR
adie AR ALY Q6! 6166 ?

A) 6.4 @4
B) 6.0 @7
C)s55@a
D) 5.0 &%

17) In a certain code language, if the number 8787 is coded as 7676, then how will the number 7777 be coded in that
language?

v | €CHhOfworld.In

B) 5555
C) 4444
D) 3333

17) <@ Ada 6010 QISIER, A8 MOro TPHIT 9999 AIREE 6RIQ, 6RIE, 6069 6A2 AITIER 9999 NS Q Fad caIe @Al U8 2

A) 9999
B) 8888
C) ¥¥¥y
D) aqaq

18) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.

2, if statement Il alone is sufficient to answer the problem.
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3, if statements | and |l both taken together are sufficient to answer the problem.

4, if statements | and |l taken together are NOT sufficient to answer the problem.

A and B are positive integers. Is A odd?
I. A+ 2"B is odd

II.A+Biseven

A) 1
B) 2
€):3
D) 4

18) QURYC 999eecn 636 @09 :
2. 26 QQQ¢l | anaue AR caaig a6a8 AT |

9. 98 QA4 |1 ¥gdal anaiia AR sealg A62e AT |
¢. 28 YRG! | e Il aeag 10 FuIFe 6069 ANAIQ AR cae! s adug 266 |

¥. 296 QA | ve |l anag 1eid FuIde o6 A anAla AR coal aist adug ged |

A e B uaige 9dic 268 1 Aagq 26e @7

I. A+ 2B aggase |
II. A + B gqaee |

o Techofworld.In

c)m
D) ¥

19) After walking 6 km straight, Ratan singh turned right and walked 2 km. Then he turned left and continued to walk. If
Ratan singh was finally walking towards North, then in which direction did he walk when he started walking?

A) East

B) West
C) North
D) South
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19) » Genifica QuI olel a6a QoR & oIRIeg 9F 9 Seafiva OH6R | D106 6a NG 9F 2IDQ QIReg 0 1 96 aor & 66860 AR TIEY Qlpdsa,
6064 6@ INAI AR REQI 6969 694 Ja IRY S1dden ?

A) %€

B) @da
C) aem
D) *&e

20) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.

2, if statement |l alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4 if statements | and |l taken together are NOT sufficient to answer the problem.

Isb =57

. (b-5)a-4)=0

Il.(a-4)=0

»; Techofworld.l
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c)3

D) 4

20) ARG gggfasn 636 @aq :

2. 96 QA4 | anaue QAR s99Ig asaa AET |
9. 9§ QA4 |1 ¥gdal anaie SR coeig asas 26T |
. 95 Qa4 | ve || asag 90 FaIde 6e6e NS AAA 609! A1 99Yg 766 |

¥. 26 QR4 | ve |l aeag eI0 Fzide cese § anaia QAR 690! K adug eS|

b=s8zec&?
l.(b-s8)a-¥)=0
Il.(a-%)=0
A) ®

B) ¢
c)m
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Section 4 - Paperl-Teaching Aptitude

No. of Questions: 10

21) The chief aim of project method of learning by doing is following the goal of which of the following?

A) Idealism

B) Pragmatism
C) Humanism
D) Marxism

21) Qi @8 4410 9P URGQ AR 6208 F6QIS AUQ 6RUTR AR AFAGE QG ?

A) iedaR
B) geéqi@
C) aeeeie
D) Agei@

22) The freedom t

rcise proﬁ,lonal m ent is ref rra to T
A) Dichotomy n

B) Attitude
C) Autonomy
D) Personality

22) 60aIQie 2610 28918 ARSI 6913 QeI

A) @616

B) 1ogye

C) @esieaid
D) saediqiad

23) Which of the following is NOT one of the top 6 agencies for the improvement of higher education in India?
A) ICAR

B) AICTE

C) ICSSR

D) SCERT
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23) QIGG6R @2 380 R4 QIR Y9I 68 A6FIR A°AI AER FARYS 676G g% ?

A) ICAR

B) AICTE
C) ICSSR
D) SCERT

24) Wood's Education Despatch of 1854 aimed at

A) encouraging proselytization

B) spreading western knowledge and science
C) propagating English language

D) promoting Indian classical languages

24) erey @ eQe 46l 6eaaye QY QAR |

yusnss | @CHOfwoOTrld. In

B) @iaiey 819 9& fuie GaIR
C) eraisn ausl gae
D) fIee1a aIg1a aiaIg 691a18e @Gl

25) Which of the following point was NOT emphasized in the Macaulay minutes?

A) Teaching European literature and Science amongst the natives of India

B) The Government Funds were to be spent on the printing of oriental works
C) Criticized almost everything Indian: astronomy, culture, history, philosophy, religion etc.
D) Money should be spent in imparting Western education to the Indians.

25) 39Rge fuQ 694 G0 Ra6a AIRIAER ARGER 9aQ FTIAINRYRI ?

A) 9I09R 6QERIAIT AR ORI AV ¥&* FEIR SRIGAIR

B) aeeier aide giey QIAIGFRQ 26 A ¢S FAUARERI

C) 2Iee1ac gia ans 880 ANEAIERI @Ga6R: 6a4ERRIR, °qf, adaIa, 2de, ud aeud
D) Ie619AIRG AINIeY 88l gaIRea 88 ¢4 QaIdel aIeawe

26) Children learn language and mathematics by

A)
B)
C)
D)

learning their spellings and their tables by heart and reciting and writing

reading and writing with meaning and developing mathematical thinking

taking dictation, copying from the board and understanding mathematical patterns
reading and writing more and more and solving more maths sums
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26) dRinie 1RIQIal A8l 9e* ade duE

A) canieea 9aie e AER2IQ 659059 Nrcen Syel e adal 1 cAYR!
B) zd ago afel 1o cagel 9@ a1@be Sariaia Sala RAQ

C) §o6ndia 6MYQ, 6a1dq @d @l ve aIdde adol g8al
D) 2N0Q ZQ G891 I6* 6QYR| 16° S 86 A0 anrIR GG

27) Teaching machines and programmed learning systems are based on the theory by

A) Ivan Pavlov
B) B.F.Skinner
C) Max Wertheimer
D) Daniel Goleman

27) daQie 6ndQ 16 691g1A 621RR| 886 GEI1 Q@° ARI9 QACR ARIGE |

v Tachofworld.In

C) M9 geIanq
D) QIFM 64I6RAIR

28) Maslow said that most people don't achieve the highest need i.e. self actualisation because

A) they really don't know what they want and how to get it

B) they are too busy earning a living and satisfying other people's needs
C) one is taught by society not to think of oneself and one's self esteem
D) they stop growing after they begin to feel self esteem

28) qi6q) *E8S 60 YRPS 6AIR ATRYR UINGIRE! D2 AIF GYOINAE AR *EE IR QIAE

A) 6271168 9906 RIS AR 6anIeR @6 GRIB 1 vRIg Fad aIRE?

62169 6QIRAIR FRRIER IG° URY EARAINSAR ZIQAIRE! GRé AEIER FRE M3
B) @6 2 @G

C) e Gaaca & 69 UAAMIR §806a G9I FeARIQ AR QIal S8l Gaiar

D) 6Qfi6q 2IQQATIR APNQ RAQI 060 296 *AQI 90 RAGUS

29) In which year was the National Council of Educational Research and Training set up as an autonomous organisation
by the Government of India ?

A) 1959
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B) 1951
C) 1961
D) 1971

29) QIS AARIAT Al FIG1A 63TR ARV 9L° FIRF ARVR ¥R IA° AT AGVIR NEA 699 ¥ VTS FAIARYRI?

A) 1959
B) 1951
C) 1961
D) 1971

30) Which of the following is a Memory Enhancing technique?

A) ABCD and mnemonics Te C h OfWO rI d I n
B) SQ4R & mnemonics .

C) ABCD & SQ4R

D) SQ4R & memory

30) f9fge faQ 6a¢d Ya QEas Q&R gRal?

A) 4GAE e enIn]

B) 9agisaie 9 feadq
C) 98GE 9o vagiraR
D) agisaia 9 o
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Section 5 - Paperll-Odia Language

No. of Questions: 15

31) 652 QAR INISRT 6RES NTER F0S?

A) ga
B) ci@
C) as
D) g2

32) geie 206 g9 S96Q 6Q9 AIQ MLYE ?

A) @
B) &
c)*
D) @

33) F6QI8 AUQ 6966 OG0 cenIR 2Fig FaI @a ?

v | @Chofworld.In

B) aGasu
C) aiga
D) Gel eaa

34) ‘a4’ 906 FAQIGIdeae 90 I8 |

A) zuad
B) e
C) @oaie
D) 6%

35) 606 AAIQA HIR AEQ 9B 6AIA AN?

A) 0QQee
B) aduiea
C) eg91@
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D) zqaiie

36) ‘AR @ 9L 987?

A) egan
B) eqae
C) eeag
D) 636@d@

37) zauia 2diea ‘QIal’ geya 6QI86a 06 dQ QI8 |

A) aeQial
B) aieein
C) QeI
D) samiaial

38) ‘eae aaal’ 2dq I8 RQYRI 9F FQad /a |

Lo | €@CHOTWOTId.IN

B) &el aeal
C) 4ee aeal
D) 2l 6%

39) ‘cacea Gl Q! 2dg 48 RQARI 9F FQaa Qa |

A) 696 83l
B) saeq Alde!
C) soe F
D) 6956a 624!

40) 3990 FRIQ 6RAE AR FREAINS AUQ ARG?

A) 210
B) 2qiea
C) aqa
D) 218664
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41) ‘2498’ 900 QAR 92 QIS |

A) 28910198
B) el

C) saied

D) ™

42) 'QQe" 408 Q@ 900 621987

A) @e+ae
B) a+e@
C) g+ae
D) QAR

43) Qaide G486 aRQ ‘P’ geags 998q QI |

v | €@Chofworld.In

B) geidal
C) gakal
D) &Rz

44) 960 99Q 2R QIT 6966 6RYIYSA Q2 FFAR — 90IER F6ATE 699 Q6T NS 621RF?

A) eaqy
B) Qeaas
C) adaiq
D) aqya

45) ‘e’ aea YAQIGIdcae 4 QI |

A) ZRiea
B) @RI
C) Garia
D) @isea
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Section 6 - Paperll-Mathematics

No. of Questions: 15

46) A number 'x' is as much greater than 45 as it is less than 75. What is the value of 'x'?

A) 60
B) 61
C) 62
D) 63

46) saicN ol 'X' 45 @ 608@ 2@, 75 @ 6267 @91 'X' @ FIIR 6260 62 ?

A) 60
B) 61
C) 62
D) 63

47) What is the length of the longest straight line that can be drawn inside a rectangle of dimension 40 cm x 9 cm?

»an Tachofworld.In

C) 44 cm
D) 49 cm

47) %o 62d X ¢ 627 ARGR IR AGEEAG Fo6a AR 6260 ANTT] ANRERH AFIAIRAFS ?

A) 31 sad
B) 41 sad
C) 44 ¢ad
D) 49 sad

48) There are 4 numbers lying between 1700 and 2000, which are divisible by each of the numbers 18, 10 and 5. Which
of these are the numbers? (Select an appropriate option)

A) 1720, 1770, 1800, 1890
B) 1710, 1720, 1840, 1960
C) 1710, 1800, 1890, 1980
D) 1720, 1840, 1860, 1880
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48) 1700 @ 2000 uea 4 & el 28, aid 18, 10 1e* 5 geoie @a QoI S0 62IR AIRER | YanQ 628 PG 6968 ? (Y@ AaYS o8 9I8q)

A) 1720, 1770, 1800, 1890
B) 1710, 1720, 1840, 1960
C) 1710, 1800, 1890, 1980
D) 1720, 1840, 1860, 1880

49) An article is sold for ¥ 800 at a loss of 20%. What is the cost price of the article?

A) Z 1000
B) % 960
C) 2900
D) % 820

49) 20% 5860 @ 2icaa T 800 60 3 241 666@ UFTFR G A 6260 ?

A) Z 1000
B) 960
C) 900
D) 820

50) Which of the following is the solution of the system of linear equations 5x - 2y = 17 and 7x + 2y = 19?

v Tachofworld.In

C)x=3andy=-1
D)x=3andy=1

50) 9Rge naQ 626E 6208 5X - 2y = 17 wer 7x + 2y = 190 60uiae A1Rad A8Aa AARIR ?

A x=19e°y=2
B)x=249e°y=3
C)x=349e°y=-1
D)x=349e°y=1

51) What is the area of the parallelogram whose base and height are 5 cm and 4 cm repectively?

A) 16 sq. cm
B) 20 sq. cm
C) 24 sq. cm
D) 25 sq. cm
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51) fi 8 6af 6 QP0I ¥ 6af 589 ANPAURQ CAYTR 6REE 629 7

A) 16 ad eafi
B) 20 a¢i saf
C) 24 qd 6afi
D) 25 a¢l 6af

52) If the ratio of two numbers is 5:9 and the H.C.F. and L.C.M. of these numbers are 8 and 360 respectively, then the
sum of the reciprocals of the numbers is equal to

A) 7/180
B) 5/120
C) 6/240
D) 14/180

52) ad 9ad cauia 2igaie 5: 9 1e 9B TraugRen aalg ve eaig 0aIgen 8 ve 360, 666 THWIgHen et and 19l ade ANIR 62

o 1 echofworld.In

B) 5/120
C) 6/240
D) 14/180

53) A shopkeeper bought 300 tubelights from a wholesaler at ¥ 30 each. However,100 of them were defective and were
not sold.The selling price of each of the remaining tube lights so that he gains 10% on the whole is

A)  34.50
B) % 39.50
C) 3 42.50
D) % 49.50

53) w6 saiai 264 caimeanas 0l T 30 6a 3008 cyenias Fdgsa | zeay, sagrug 100 & @Fqd 8l ve Ge0 6RIRRYRNI | 2] YEGIR CYRNIRE @
494 gAY 6260 620 ARIQIRI 6d Agaa 10% QIR @G 7

A) % 34.50
B) % 39.50
C) % 42.50
D)  49.50

54) The ratio of two numbers is 3:4. What could be the ratio of the resulting numbers, if 10 is subtracted from each of
them?
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A) 7:8
B) 9:10
C) 2:3
D) 4:5

54) Qaf crenie 2gaIe 620f 3:41 a8 6anIee geyeoIQ 10 F60Ia QAIAN, 6660 TRITR THIPIRN LRAIC 6REE CRIRAIA ?

A) 7:8
B) 9:10
C)2:3
D) 4.5

55) If A = {a,e,i,o,u} and B = {a,i k,u}, then which of the following denotes the set {e,0}?

»e | @chofworld.In

B)A-B
C)AUB
D)ANB

55) oG A = {a,e,i,o,u} v B = {a,i,k,u} 29, ce6e Gqhige auQ 6947 cae {e,0} 956 @6 ?

A)B-A
B)A-B
C)AUB
D)ANB

56) A perfect square number has 11 factors. Which of the following can be the number?

A) 10,000
B) 6,400
C) 1,024
D) 625

56) ve @gd ad caica 11 & agIe @88 | FQRYE NUQ 606E 62 P 62RAI6ER ?

A) 10,000
B) 6,400
C) 1,024
D) 625
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57) In an equilateral triangle with area 64V3 sq. units, all the 3 altitudes are drawn. What is the distance of any of the
vertex from the point of intersection of all the 3 altitudes of the triangle?

A) 4/N3 units

B) 8/\3 units

C) 12/N3 units

D) 16/3 units

57) 4@ anQig 5999 680T9 S VM advee, 1210 N 096! 280 62108 | M ae6ia fer 599 599 6a 6316 A19Q Q! 6960 ?

A) 413 gae
B) 8/3 gdis
C) 12/\3 gae
D) 16/V3 ge

58) The ratio of the prices of the two t-shirts is 15:16. If the price of the first is increased by 20% and that of the second
is increased by % 160, then the ratio of the prices becomes 3:4. What is the price of the 1st shirt?

»ao Tachofworld.In

C) 340
D) % 360

58) q@f §-ada gave agaie 15:161 o gande gy 20% e §orada gat T 160 Q 9F eaIaN, 6062 Gaa 22016 3. 4 6RIRAN | 6069 €A ATQ
R4 6Q60 7

A) T 300
B) % 320
C) T340
D) % 360

59)LetA={2468,....},B={1357.9,...} and N be the set of Natural numbers, which is the universal set, then A’ U
(AuB)NB)=

A) A
B) B
C)N
D){}

59)A={24638,.....}, B={1,3,5.79,....} v& N g9 TxigFiea 6ac 629, Q2 6208 QIO ¢a¢, 606 A'U (AUB)NB') =

A) A
B) B

M n4_An
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60) If a five digit perfect square ends with 4, then which of the following is definitely false?

A) The ten's digit of the number is zero
B) The ten's digit of the number is odd
C) The ten's digit of the number is even
D) The ten's digit of the number is 4

60) 9@ e are as 388 g4 @d ¥ 60 AAIY 94, 6061 REAIS ARIQ 614E FEC QIRea Fal ?

vam==< Techofworld.In
B) W@ Teiia 4@ 2 299 .

C) @ Taiia 249 2% 99

D) 8 PENIQ QAR AT ¥
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Section 7 - Paperll-Social Science

No. of Questions: 15

61) The border line between Earth's atmosphere and Outer Space is termed as

A) Venus Line
B) Karman Line
C) Space Line
D) Durand Line

61) 9a1e QYNGR I&° QIPY YR FRIE QA 604 IRININER REIAINAN

A) 6679 AIgQ
B) @eIe Qiae
C) 624 qiaq
D) g9 QIae

62) Continental crust of the Earth is mostly composed of different

v 1echofworld.in

B) Granite
C) Basalt
D) Obsidian

62) 9I91R AIRTIA PER YIAGE F0R GRIA 1E 6g6a 608

A) Qieq

B) gieiag
C) 6qaiq
D) 6eddaIq

63) Who decides the disputes relating with allotment of symbols of political parties?

A) Prime Minister
B) Election Commission

C) Speaker of the Lok Sabha
D) President
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63) QIREFER R gO1R SeR AR KE6 310 FE6 AW Fud 7

A) guIena!
B) #eIee aisaia
C) saIeania 91628

D) qugad

64) The first site to be discovered in the Indus Valley Civilization was

A) Kalibangan
B) Harappa

C) Mohenjodaro
D) Dholavira

64) 8Q QUL ANLIQ 2ITFE 62IRYS! A AIRT YR

»amsere | echofworld.In

B) ¥yl
C) sqseemqical
D) suiqi@el

65) Which among the following options is the oldest Barrier Coral reefs?

A) Andaman and Nicobar Islands
B) Lakshdweep

C) Australia Great Barrier Reefs
D) Gulf of Mannar Reefs

65) FqRge SeRgPe AUQ 69UT 62aF YIOR AR 6RINIR A ?

A) AR e P6Q19Q Q1A
B) asieia

C) ueadRl 696 @4daa g
D) 69 2 f91Q &g

66) The largest division of the geologic time scale, that spans hundreds to thousands of millions of years is termed as
A) Eon

B) Epoch

C) Period
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D) Era

66) 69160IAR ANG 6ANA AG 20 TSR, AL 929 2RI6R Q AW Q¥ ALY QT2

A) a6]
B) @saiQ
C) aGagq
D) wal

67) The primary objective of the Indian Federal system is?

A) to safeguard and promote unity of the country
B) to mitigate regional and state diversity

C) to mitigate linguistic diversity

D) to mitigate cultural diversity

67) Q10010 6060010 RIOYIR R R6REY 6208 T e C h OfW 0 rI d I n
A) 6289 9001 a8l I&* 691AR0 @GS "
B) 2rede 1o aigiaaia §8ueIq 210 6aal

C) amb@le s6ueig 21a oel
D) argée GaueIg 21 odel

68) The Comptroller and Auditor General of India acts as the chief accountant and auditor for which of the given bodies?

A) State Government

B) Both Union and State Government
C) Union Government

D) Neither Union or State Government

68) Aqea duandel 6ed TYQFR Ald AINEA REANA IE° AFCR ERERAIN QU UIRICEPE I&° ZFCQ AR QIdY @03 ?

A) G184 ace
B) @09 602 & QIgY A0QIA
C) 692 a0e@

D) @I @ ¢e0,7l € aiey aeein

69) Which of the following places of India is closest to the Equator?
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69) Q16ee GORYEe YFIER AUQ 694E YU 6aUIR FRTEa GRS 7

A) fIIga

B) zigIqIR 9e* FERQ QIAYE

C) V121 9&* R6IA AR I QAR 9 §g
D) 82

70) Why was Simon Commission sent to India in 19287

A) To frame a new Constitution for India
B) To persuade Gandhiji to attend the Round Table Conference in London

C) To look into the functioning of the Indian Constitutional system and suggest reforms
D) To try and imprison Indian revolutionary leaders so not to disturb the Govt.

70) ¢c9r 60 ARAR @8R AIAGQ VTS QOKIRER ? TeCh OfWO rld . I n

A) 9160 il 96 QeR AR GOR @GR a6l

B) M9R6R 64N 669R 650Q6A 6AINERIQ SIRNIG ARSI DI

C) “Iee1a aluFe eg@ QNRIEOIQ 6QYRN e TAIQ 2RI Al AN 6291 Qle

D) 6081 Al 6 ARG G 6ROINIAY QIABINCE AR A ARIQIS ARG F0F0 6201 0be AIF

71) Which Mughal ruler introduced a silver coin called 'Rupiya’ during the medieval period in India?

A) Alauddin Khilji

B) Muhammad bin Tughlaq
C) Akbar

D) Sher Shah Suri

71) 699 67191 §IAQ NIAGER AUGE QIREA 'QdAI" QINQ 9@ QAI 91 ORR FAYER?

A) 211080 YaeT
B) aeqe 3 gonIQ
C) a1eea

D) caa4i12 ga1

Download App- For Mock Test, Previous Year Questions, E-books, Notes (PDF) Click Here


https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Tech Of World Whatsapp/Call- 8596976190

72) According to the IUCN for 2015, which species among the given options is the most endangered?

A) Sparrows

B) Mountain squirrels
C) Great Indian Bustard
D) Pelicans

72) 90 ¢ 860 20gd9e 20101, SRR FRRER AUQ 614 RIG 6208 AQ0IQ 0293 ?

A) 9eedal

B) aie@ gedqal
C) fIRIR QIa01a eaid
D) &9

73) If a Fundamental right of a citizen is violated, he/she can directly approach the

A) Supreme Court

B) High Court

C) District Court

D) Either Supreme Court or High Court

73) 23 QI96ea 9@ 6AIRR ANAIOR ARLAR R4, 6669 6Q AUIARH IS FREQ ARAIRER

wwe | €@Chofworld.In

B) 216!
C) & =0
D) ggn sai¢ G eimeals 6NEIAT &

74) The area bounded by the Tropic of Capricorn and the Antarctic circle on the Earth is known as

A) North Temperate Zone

B) South Temperate Zone
C) Torrid Zone
D) Frigid Zone

74) 06Q Q15 Y& IR UPGINER QR QIS AIFE 2rOR I2I NNER FEIGA

A) aQe an816018 690
B) 8@ AAEIEo!S 689
C) gy a1gm

D) @aaam
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75) Which Viceroy of India declared that India has joined the second World War in 1939 without cc

A) Lord Clement Attlee
B) Lord Linlithgow

C) Sir Stafford Cripps
D) Lord Mountbatten

75) 0106@ 6049 AINAAIA QNG 2GR 6a ARG € ¢M AdEa *6ga A6 aRINd PR §o10 FGYNER 6AIQ 6RRE ?

vewens | @CHOTWOTrld. IN

B) aq Acfeea
C) 98 81a¢ &9
D) #¢ Areayiees
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Section 8 - Paperll-Science

No. of Questions: 15

76) Which among the following will be the product formed when ethyl chloride is reacted in presence of Na metal in dry
ether?

A) CH3-CH2(CHs)-CHs
B) CH3-CH2-CHs

C) (CH2)s

D) CHs-(CHz2)2-CHs

76) 9gm eaesa Na Qe 2adéen agm 6qRIee gOGAIIR 626a RYAYS AQ 6R4e aQIe 98 629 ?

A) CHs-CH2(CHs)-CHs
B) CH3-CH2-CHs

C) (CH2)a

D) CHa-(CHz2)2-CHa

77) What kind of defect is Frenkel and Schottky defects in some solids?

A) Metal-excess defect

suawmcenans [ @ChoOfworld.In

D) Stoichiometric defect

77) 62609 Q0260 6T6ER I AER [3=0) gdeioq ¢F 2es ?

A) dQ-TUNNR Qe
B) uIQ zeie @8
C) uqeel g

D) Qaan1eedfieln a°aee ¢

78) A 5 kg body has an acceleration of 4 m/s2. What is the net force acting on it?

A) 40 N
B) 10N
C)30N
D)20 N
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78) 9@ 5 kg 9gQ QQé 6208 4 m/s? | 92 RACA AIF FQEYR! ATRIA 9P 6Q6E ?

A) 40 N
B) 10N
C)30N
D) 20N

79) The pigement responsible for pinkish nature of nodules in leguminous plants is

A) Carotenoid

B) Chlorophyll

C) Leghaemoglobin
D) Mauveine

79) 6ngfiea afegeesa cRIRAR AINIA ged Al QA1 Sa6ere 6208

A) QRAEAITAIS
B) cqeQIFM

C) Reasaieqiee
D) alesiaq

80) The valvate type of aestivation is found in

A) Gulmohur

Djosms Techofworld.In

D) China rose

80) ainsas geiea sdirdiead 1dea AdaN

A) 20610
B) «uidal

C) @esieg1aa
D) c1@si 6a1e

81) What product will form when propene is subjected to ozonolysis?

A) Acetaldehyde only

B) Formaldehyde only

C) Acetone and formaldehyde

D) Acetaldehyde and formaldehyde
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81) 60606962 691607 B6RIERINIRAA ZUIRER &N, 6ACEETER 6RW QYR 98 629 7

A) 69949 26ACINEARS

B) ¢eeq adindeee

C) <@seia & adiiedene

D) U6acRbeIae I adindeiee

82) How many atoms are there per unit cell for a solid forming face centered cubic lattice?

A) 4
B) 3
C)2
D)6

82) 4@ @0f G0 Q¢ Q4 6226 ATIRA Al 3R 63N 96 6260 9y A2 ?

A) 4

»s  Techofworld.In

D)6

83) Consider an ambulance van moving along a straight horizontal road with a speed of 72 km/h. If the coefficient of
static friction between road and tyres is 0.5, the shortest distance in which the ambulance van can be stopped is ( Given,

g=10m/s?)
A)30m
B) 40 m
C)72m
D)20m

83) IR AR NIY IR ARH AAISAIR QIYER 72 7.6./091 62960 96 @g81 97 QI 99° IR AIEA Ta AT FEIT 0.5, 666@
AR NIQ AGR AIRIQ ASRA) 9ael 6208 (AT, g = 10 m/s?)

A) 30 m

B) 40 m

C)72m

D) 20 m
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84) An organelle of bacteria that appears as an invagination of the plasma membrane and functions either in DNA
replication and cell division or excretion of exoenzyme is called

A) magnetosomes

B) carboxysomes

C) mesosomes

D) ribosomes

84) IR @ BT AV YR EARIRA AGAG AINEA 6N 1* DNAGRR 16 6218 GAIRG GAI W6FILARIRA FeR6a QI
[6Q 0121 QRGN |

A) Q1696516819
B) @ISQIQ6RIE

C) 6n6QieRiq)

D) QIR6RI6RI]

85) The word chloroplast is derived from the Greek words chloros, which means green, and plastes means

Jamemmnaes. | €CHOTWOTIA. IN

B) network of membranes
C) the one who forms
D) thread like structure

85) 6q601QIa 62 gie a9 6q/6RIAQ AQ], AIRIQ 1d AQ, ¥ Q|aq Q zd

A) sagleria cyen Q 66
B) 6769,099@a 676¢Ie
C) @4 60% @6a

D) Tael 9 ge!

86) Which of the following statements is FALSE with reference to Hydrophytes?

A) Sclerenchyma is poorly developed or absent
B) Secondary growth occurs

C) Vascular tissue particulary xylem is there in small amount
D) Arenchyma is well developed helps in buoyancy and gaseous exchange

86) 2iceiTiage @ N0ea S9aye 1uQ 6edT fay 2ee ?

A) 6366100 SQIA DUER 080 @al agage
B) ArIAe 2RQF Qs

C) 2Ig81Q §q aifgRier RIRERn 28 adnIgea ag
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D) 266rE7 AR NVER G0 62ARE I MIA FFNAER ARIYY FEQ

87) What plausible reason can be provided for the greater capillary action of water compared to mercury?

A)  Force of adhesion between glass and mercury more than cohesion between mercury molecules

B) Force of adhesion between glass and water less than cohesion between water molecules
C) Force of adhesion between glass and mercury equal to the cohesive force between mercury molecules
D)

Force of adhesion between glass and water more than cohesion between water molecules

87) Q100 QaaIea 990 2@ MIFAIRT QY AI 604 QIYS RIRE IR FAIAIRIRS ?

A) G109 2GIFR AUER QR U6AA G I AR AUER TIEIAR ead

B) 9% 24gfe AUER fRR0IQ @A qIA I8 9O AUER 2IERAR 6a1d

C) Qe AI0Q AR BI6RAR 6and Q1I0QQ 2GR A6 fde 48 ale AR
D) 9% 2gede Au6a FeR B6as GA & 9R AU6A UIEIAR eand

88) A machine gun fires six bullets per second into a target. The mass of each bullet is 3 g and the speed 500 m/s. The
power delivered to the bullet is

s Tachofworld.In

C) 0.75 kW
D) 3.75 KW

88) 1@ 6AJQ 9R 601G\ GI6Ceq 9F 6ACRAER BAT GR CRIRANI YERYR R 2R 3 Il 9e° 699 500 M/s | gAY 9P
RAAIRYQN R 62087

A) 15 kw

B) 2.25 kw

C) 0.75 kw

D) 3.75 kw

89) How many molecules of ATP are required to fix one molecule of nitrogen?

A) 12
B) 18
C) 10
D) 16
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89) aeaieeina 601G 8¢ 0@ REQIQ GBS @ 6R60 B¢ AR ?

A) ©9
B) ¢r
C) ¢o
D) ¢»

90) In Endoplasmic reticulum the term reticulum was used to denote the

A) jelly-like mass of protoplasm

B) nucleo-cytoplasmic interaction
C) oval or rounded sacs

D) network-like appearance

90) wcaIqIRIfie 603QMN 60 60T aRq AdIRAI QIR IR MAQE 6RINYR

A) 6gI6SIQINNG 69F A& AI1Q

o s | @CHOTWOI. IN

D) 6/6¢e 08 @agiasl
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‘ Question Paper No: ‘ 62419 34
Answer Key
TechoﬂNoﬂdIn
11D 61 | B
2| A 32 £ 62 | B
3|B 33/A 63 |B
4 B 34| A 64 | B
9| € 35 | A 65| C
6| A 36 | D 66 | A
716 37| D 67 | A
B|C 38|B 68 | B
91 A 39D 69 | B
10 | A 40| A 70 | C
11 |B 41 | C D
12| D 42 | C 72|
13| € 43| D 73 | D
14| A 44 | A 74 | B
15D 45| C 75| B
16 | A 46 | A 76 | D
17| A 47 | B 77 | D
18| A 48 | C 78 | D
19| C 49| A 79| C
20 D 50| C 80| C
21 (B 51| B 81| D
22| € 52| A 82 | A
23|D 53|D 83 |B
24 | B 54|C 84 | C
25| B 55| B 85| C
26 B 5 | C 86 | B
27 | B 57| D 87| D
28| D 58 A 88 | B
29| C 59(C 89 | D
30| B 60 | B 9 [ D
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